=
e}
@©
S S S S
C
[
S T
B

#
OJ"U" N N N
8
(14

ooa )(cm)

—
- :
o :
= .
— :
Q :
() N

~ e
5 :

: 4

: E

o 107 ] I ]

=] B .

© r N +

o [ A

P o

[N
S
I

Xy

3

=
=
o

2
TPp. (PCA t%obeamliné[f)

T
4

a(d cot(B))

..................................................

1+

e ———

2 3
1 TP1|c9T (PCA t%obeamliné[f)

—=—RAeMoTn = tH600—ptatpatty:
pu——— :3§%L§:_.é%m e { i érJ}E el El _eta; Q
ESg R L s s
— —piXelCPETemplate J{ 15quare30—step2— —eta. 0
—
IS
3]
=
.................................................. =
N
o
b L e e e et
=
_______________________________________________ [s]

o

2 3
1 TPl[g)T (PCA f%)obeamlinép

; I : 2 3
1 TPlpg)T (PCA t%)obeamlinel)O

iy

B

1 TPl[g)T

2 3
(PCA f%)obeamlinéf)



	Contents
	Page 1


